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> Instructions on how to complete this answer sheet are given on the question paper. Please make sure you follow them carefully.<
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} Instructions on how to complete this answer sheet are given on the question paper. Please make sure you follow them carefully.{

Questions ONE to NINE Choose one response 1 -4 for cach of the parts A - D

receptors that help the rider to feel the reins
receptors that help the rider to see the road

receptors that help the rider to smell the air

leprosy

limb abnormalities

morning sickness

difficulty in sleeping

QUESTION ONE
receptors that help the rider to keep his balance

QUESTION TWO

QUESTION THREE

brings about a change in the body

carries nerve impulse

coordinates a response

detects changes

eggs
ovaries
pituitary gland

womb

QUESTION FOUR
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hepatitis type b
MMR

pneumococcal infection

tetanus
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"QUESTION F

a conclusion

a hypothesis

an observation
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